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A container contains some milk. If 16 liter of milk is taken out and replaced with water. If this process iS

repeated three times more then the ratio of milk and water become 16:65. then find the initial quantity of

milk?
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If the length of a rectangle is increased by 40% then what % of its breadth will be reduce for 1
decrement in its area?

% wF JAd Y dGE F 40% H FEA A St 7, A 39F AEA A 10% FA
HIA G 3TA IS &1 Faar gfasra & & JArean?

1) 14 2/7%
2)213/7%
3)30%
4)NOT




A shopkeeper gets 10% profit but if he reduces its cost price by 4% and had increased selling price by 10

rupees then profit will be 18 3/4%.Calculate cost price.
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earn 30% of profit. He again invest his all money in debit and mutual fund are in the ratio 6:7. If his present
mutual fund amount is 94500rs then find his initial money invest in debit?
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1) 40000
2)60000
3)48000
4)NOT
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An alloy contains 90% copper and 10% tin. In another alloy, copper is 93% and 4% is tin. In what ratio shduld

both alloy be mixed so that hewly formed alloy contains 9% tin and also find the % of copper in this?
s AN a1q & 90% dreT 10% & YT &1 T 3= fAsrena & aier 93% 3R 4% fe=

gl A et A fFE 3T # e S TRT B daafsd @Ay aig & 9% Rer @
3R gaH ad 1% ot Fa H?

1'1) 5:1, 90.5%
112)5:1, 92.5%

3)4;3, 75%
4)NOT




Ratio of cost price of two articles is 16:23. If cost price of first article is increased by 10% and that of second

article is increased by 477 rupees then new ratio will be 11:20.Find initial cost price of first article
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If the total income of A, B and Cis 72000rs. If they spend 80%, 85% and 75% of their income

respectively. If their savings are in the ratio 8:9:20 then find the income of A?
gf& A, B3R CHr Fer 3T 72000 TN 1 IR T 9=l 3T FT FAA: 80%, 85% 3R 75% @Y
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1)16000
2)24000
3)32000
4)NOT




A shopkeeper promises to sell its article for x% profit but he uses 20% less weight. If he gets overall 37.5%
profit. Calculate value of x.
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The two diagonals of a rhombus are respectively, 14 cm and 48 cm. The perimeter of the rhombus

is equal to ?
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1)160 cm
2)100 cm
3)180 cm
4)80 cm




